e 14l 0948 $les 9Ly 0001  3lske Hlusys oadrds

IS 3:30: IS / Gyl 1Ol SUSAAE Dgpajdd Yl S5t
2021-2020 i 3 ; ZAS Leps

7730 (M54 is#) e e (cv3ie) cioaold U330 ASARES Lapards

700 383 Ehilutar 3 54 B 1 3330 Sl (09 ¢ kit
X =5 OIS oge)ds ¥ $lad) ¥ = 3.5X — 4.3 & () k) S ATAadS 3 u1g0 3 AL lid i) SAdiS sl HaS4d .1
A. 175 B.132 C. 20.5 D. 15.7
09933 phis Sz { 17 .18, 13.19.16 .22 .21 .18 .12 } dilghuls denysSpa .
A. 16 B. 22 C.19 D. 20
5ab e yuasIlS (5) pdSay saidas a3 L) pudpd 4840 | 29401803 Jisaspd ok pdid 3 DAL o S 3ided 1990 pid St eSiguggd .3
3ySeilinn ya3alS (7 ) poggs saihad & 5aSad S)S0a)09 450 el & Wik aSaSiuugsd W sl 200 000 yauya geiaa

Ld

550y 38 (5 )1t (o31308 A 53803 il gty Aoyl 85 g Sl yeSd,
A. 280000 B.33 000 C.40000 D. 140 000

09036k (S )92 1394 13 dua sl Pl 50943 ySigg) 41 .4
A.33 B. 34 C.2 D.4

31 32 33 34 35

9 = phsir Slsz « 8 = laghe o 6 = dlulyogld ¢ A4S ASL)a Ailglh daesS ghd pliaw SogddaySgy) S

Ay — B, —/——— +_
C D
— I ) | — —]

=)

A 230 B.195 C.200 D.205 .aeiik —2,3,8,13, ... o)) oSad 190 & Sk 9. 510 ordzshe .

. 1090 3uk YAty A IS Alogdia jS09g) IS ) wogddy SASIISILD 5291 S Slady .
o A 0.64 B. — 0.64 C. 0.73 D.—0.73

—

il e & Tl ( 12) ol pe dadd 45, &)1 IA0dD $ouIogdd 993 (i )duw dedad . 3SEg5  1pd o (Bl 9 Slhdwr 9 Sl .8

99933 SLIASANAD Hdadd | e HAedd SodI0gdd 993 Alidod JLBlu dedd Jlui ( 5 ) by  eeS

A (19 ) glite. (14) ghdw. ( 7 ) 3l B.(15) e . (6) g« (3) 3l
C.(22) yhdbw. ( 5) gopwe (10) gl D. (29) sk . (34 ) slidw « (17) gl

o 09l &1 ) S AdAhpSiw i 55509 A ( SlaSad W) Gy SAIAdpSi AT SO94S03 Clwod & AS AR (S r § didSi .9
A A E o CgaSea Clluod & &S JdadiSiw yad &J 09diiind 0)liggd 9)\S pdd 09 paSA Sl
L 09033 Pyl LG & IS ALK S0yl
A. 12 B.24 C.81 D. 27




» 7 § OLS2d HAulyd SASgknd oS 42 9l lakuly 290,195 SAILZ yda pdd IS .10
. A. B. C. D.
~°F xz0 x=0 xz0 c=0
"~ v > 6 ] y > 6 ¥ =< 6 ,\'}f"
: \lZ_\"_'-BJ 102y58} \~2_\':_'8} \02_\*28}
i S5x—2y <28 5¢—2y <28 5¢ — 2y <= 28 5¢r — 2y = 28
e
A.3 B.5 C. 11 D.7 0g0jis f(2) i f(x) = x% — 2x + 1 a8 .11
Saulga -,50,01?45 SALF 4D Saa sdiledd plS 12
N 3
A fx)=3* B f(x)= (03" C. f(x)= (125" D. f(x)=H"
L 0g0)ikd B? el & . Sy agesl Sy B = [ g %],Jd A3
0 9 0 6 15 0 0 5
A'[25 0 B. [10 0] ("[ 0 15] D. 3 0]
Al12 B.-3 C.7 D.3 TOTRY [ _11 Eg] $291 38395 6303y 0hue Sl .14
‘ 2
o9jikd AB k. peelySiea B=[1 -2 3] . A=|1 ] 484 .15
—3
2 —4 6 2
A.% -2 3‘ B.I—Z‘ C.[2 =2 9] D. duadds
-3 6 -9 -9
A -9,-6,-3,-1,.. B. 2, 8,14,20,... §Ciidein oi0)dd (SA $lsadd Jad 523 Saledd plS .16
C—,—,—,—,.. D.12,24,48,96,..
12 36 64 108
cogedi 2,5, 8,11, .. o)l S ek Dby adilad soly .17
A. 25 B. 21 C.28 D.23
cogoygss —3 ,— 5,7 , =9, .. o)l S $lgaas L Saiual .18
A -2 B. 2 C. -8 D. 8
Ay =31 4N & 4y e 503y S 09933 Aoyl dS S193 &) gdd 8 51 Az ybw .19
A 51 B.348 (C.355 D.612
$ oAy AdaS g4) SALAS Sadu 505 Cuddeior WASA) Adaas sadal f(x) = 9 X 2% Liigd sadsa .20
A. 9% B. 50% C. 81% D. 100%
s =12 0 Ay = =36 Saal) 993 ketdl) A 0g0) il dute)iad ASAD Slgadd dd gdd Syl .21
1 -1
A -3 B. 3 C. - D. -
o[ =1 X
. 09834 [3 _2] $04155)30) S29y6804a .22
-2 1 -1 -1 . 1 1 3 -2
A. [_3 B [3 2] x(_. [_f _§] 21). [1 o
= [ 23] ey s x canchssom susarn 2
A.x=2, y=3 B x=1, y=-— C. x=4, y=5 D x=3, y=-3
2 5
0a0)id 3 A o & (Sl HadeglySiey A = [—1 1| 484 .24
0 3
5 8 6 15 6 15 6 15
A2 4 B.[-3 3 C.|[-5 5 D |-5 5
3 6 0 9 3 9 3 6




x—y=25

Cswndiin 57V 70 e e S gy aiSe 34

a2 TG B [ 1G]

c[3 S -5I6) o [ L 73] [1-5]
gy 17, 0, O, O, =11 ¢ e oSa 6192 & S Saylald a3l

A 10,3 ,-4 B. 11,5, -1 C.7,3,-4 D.9,2,-5

 999)3ed 09153 (LIS A 4S Sadoal) 9l S1ga a3l 1,4 ,16 ,64,.. ) Saslada s
A 128 B.256 C.81 D. 96
A 3 B.5 C.4 D.2 S f(x) =3x% —5x + 2x" gadsdgau
Cdugpy 57 = 125 gD ogid 3 ARSH Soged
A log5125=3 B.log;125=5 C.log;5 =125 D.logs3 =125

x=3 x=2 4x + 3y + 2z = —4
A ’}'=—6 B.{y=—6 13r-2y-52=3 b et (o335 b Ay S 3 Y U,
z=2 z=23 2x—y—-3z=1
x=2 x=-=6
C.[y=3 D.{y=2
zZ=—6 z=3

Cegyym {1, 20, 50,14, 90, 8,0, 2,5} dl,b.ﬁg'péalgu}?gsuq..}l

A.50 B.0 C. 90 D. awi
A3 B-2 C3 D2 Cogii f(3) ol di f(x)=_—: e
2099Ld 12yhuelyd & saSally  f(x) = x* — 3x% + 2 gabsa
Todldy ASALS L LS AL o))
A3 B4 C2 D6

L -
! wwls f(x) = 3% galsa SSlaw gailds 34
A X 0 1 3 X 1 2 3
Jix) 1 3 27 8 Sfix) 1 6 27
x 0 1 3 x o 1 3
C -
Jix) 0 3 9 b fix) 1 3 6

A(-13)  B.(1,-1) C.(0,1) D.(-1,3)

A el g-l ghpa B. -2 &yl
C. -1 & ojineS D. | ol

.26
27

.28
.29

30

32
33

1A i §5 (0 FSgend SWAY U5 pLSAT ASALS &) 13)dul ) Sy &8 .35

LIS X Sl AlSod yhul)dd SAlS A $ogadaySigg) HgpudS 4T 9g) Sogke .36




-4 L . .
Sy f(X) = —  SAlF& 509 ySigg) saidy

KJ[ 13 T

PR TR

8 2 10 g+

0
-1
2 2

37

pgoyi Y sl X =7 408 Yy =848 .o,upmao,duu u|,4§u T ‘,Sum,.m &YX 5,1,,3”4 38
X =4 dols
A 13 B. I8 C.14 D. 12
- A a Sioiglo &gy 1)iS Sukdogady &S Sadils gi .39
A B C o
X315 [x]2]5]6 x| 2]10f16)|x[3]4]6
y |5 |10]I5 y | 4 [10]18 y | 8 |40 |64 y | 9112]24
A. f(x) = 2(0.9)* B.f(x) = ()" | Sy gD SaS S GadS 4 .40
C. f(x) = ()" D. f(x) = (0.05)*
A e" B.4x C.lnx D.e* &Syl Ine™ jogid jayteau 41
A.1024% =5 B.4°=1024 . aSuy (09, 1024 = 5 is)Si sopsd 33 3190 SadiSyla .42
C.5*=1024 D.1024° =4
A -5 B. 5 C. 4 D. 4 Cagii 10g 0.00001 obad &b $ypaas .43
A. logg,s —1=4 B.logy,s 4=—1 &S 471 = 0.25 S5 gl 3 oais) S sadiSela .44
C. log., 025=4 D. log, 0.25 = -1
A 4 B.e6 C8 D.9 Z=10 , x==2 ilSog)dk V Sk, X + 2y — 2z = 6 484 .45
W3l Sagw &)+ 15313 D9dSAdlY A1900)4) ol & 430yl 35) 94 HaS A T Wk Al Jlw (6) il 5k 200 000 .46
A. 200000e™® B. 200000 (C. 200000e°°"® D.200000e"'® ) 3 % sasedy
a, =48 g a;, = 384 $031) 493 A9 09033 dudd)Iddd ASdd S1gadd Sy gad ‘,Mm.g soaly .47
A.96 B. 144 C.64 D. 224
3x—-2y=-1
&)M{Zx +5y=12 | Al Al pdd 48
Ax=2, y=1 Bx=1, y=2 Cx=-1, y=2 Dx=1, y=-2
SRR by )Y 10D (V) Cwoplds .s,gjs 4(X) Ak ;,ggs Slod & gl AT aegS Haul)a saSails .49
x| S|1[|-3]-1 L 09033 Judt SIS &0 uklNgD

y|-816] 4]-2 A.24 B.24 C. 04 D -04

W f(xX) = e¥ + 2 salsa sagaiaySiyg) saidy .

A i B i D 3
: ! “ -
* . 4 » 2
o
- 2 o 3 3 | * .
“ o
* 2 = FE R ," - 3 2 n10] | 2 O
=l

G I (039 ) uabald §9a313 Iy ILSALTES 29400 400 g 4y
( MSW lad } 2021 - 2020 (Judind N 4

W1 | 2 3|-1|5 5|7 8 slmln 12|13 14|15 15|1:- 13|19 | n nlzs z4|15 zs|zr 23129 30‘31 3z|33 ulgslaa|ar 3s|39 m|a1|nz a3 44|us «lnlus 49

Blp|ajcisdo|e|a|c|c|B8|B|c|D
i =1 f =t ; f i i ; i i f i i i e

=

o/p|als|olc|alc|p|plale|c|alslc|s|alals]alc|c|c|e|e|alalp|o]|n]ale|n|p






